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! — Multiplicera decimaler med tiomakter

namn: Datum: Poiing:
1,437 x 100000 = 3,938 x 1000000 =
8, 989 x 100000 = 7,548 x 1000 =
1,632 x 10000 = 3,932 x 1000 =
2,018 x 1000000 = 10,98 x 10 =
10,269 x 10 = 8,59 x 100 =
4,614 x 100 = 10,403 x 100 =
4,796 x 100000 = 1,904 x 100 =
3,215 x 10000 = 5,813 x 1000000 =
6,646 x 100 = 3,801 x 100 =
6, 905 x 100000 = 10, 176 x 10000 =
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namn: Datum: Poiing:
1,437 x 100000 = 143700 3,938 x 1000000 = 3938000
8, 989 x 100000 = 898900 7,548 x 1000 = 7548
1,632 x 10000 = 16320 3,932 x 1000 = 3932
2,018 x 1000000 = 2018000 10,98 x 10 = 109.8
10,269 x 10 = 102.69 8,59 x 100 = 859
4,614 x 100 =461.4 10,403 x 100 = 1040.3
4,796 x 100000 = 479600 1,904 x 100 = 190.4
3,215 x 10000 = 32150 5, 813 x 1000000 = 5813000
6, 646 x 100 = 664.6 3,801 x 100 = 380.1
6, 905 x 100000 = 690500 10, 176 x 10000 = 101760
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